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( )27

( )28

( )29

( )30.

(A) He didn’t like the pizza.

(B) He ate all the pizza.

(C) He saved some pizza for her.
(D) He made more pizza.

(A) He hates staying at home.

(B) He doesn’t want to go out.

(C) He’s going out with the woman.
(D) He’s at the park enjoying the day.

(A) His change.

(B) A free gift.

(C) Aplastic bag.
(D) A piece of paper.

(A) She will start a new job tomorrow.

(B) Someone will start helping her at work.
(C) She won’t be at work tomorrow.

(D) She will become very busy soon.

Part 4: Short Talk Questions (20%)
Listen to the following paragraph and answer the questions.

( )3l

( )32

( )33.

()34

( )35.

( )37

( )38,

( )39

( )40.

(A) Health benefits of peanut butter.
(B) The uses of peanut butter.

(C) A brief history of peanut butter.
(D) A festival of peanut butter.

(A) In South America.
(B) In Europe.
(C) In North America.
(D) In Africa.

(A) South Americans.
(B) Asians.
(C) Europeans.

(D) Africans.

(A) It is good for children.

(B) It can be eaten in many ways.
(C) Itis high in protein.

(D) It is a cheap source of protein.

(A) Children.

Factory workers.

People who do not like butter.
People who had trouble chewing.

(A) Towns must be built far away from forests.
Enough water must be prepared.

Grass needs to be cleared.

(D) Tall trees need to be planted.

(A) They can help solve the problem of wildfires.

(B) ﬂpmu\ have caused most of the wildfires in the
US.

(C) They will soon not have enough grass to eat.

(D) They pose a threat to some native plants in the

US.

(A) They travel long distances.
(B) They can climb hills.

(C) They make less noise.

(D) They work faster.

(A) In cities across the United States.
(B) In several towns in California.
(C) In Disneyland.

(D) In Anaheim.

(A) Not everyone is allowed to keep a goat.
(B) Goats can be dangerous sometimes.
(C) Goats can protect other farm animals.
(D) Goats can help defend cities from fires.

(

(

2/ 3

)42.

)43.

)44.

)45.

) 46.

)47.

)48.

) 49.

) 50.

Part 5: Vocabulary (10%)
)41.

Water is coming in from the roof. Get a to
catch the drips.

A) weapon B) decade

C) bucket D) marble

For dinner tonight, I’m preparing a beef stew
roast potatoes and peas.
M>W plus B) throughout

C) across D) within

After moving in their furniture, Rob and Laura
meoE% into their new apartment.
(A) existed (B) settled

(C) wrapped (D) confirmed

The best
weight.

(A) delivery

(C) feature

of this new computer is that it’s light

(B) position
(D) paradise

Rita wears a device around her wrist to her heart
rate.

(A) track (B) harm

(C) rent (D) dive

Every in our society has an equal right to

education.

(A) musician (B) exhibition

(C) emperor (D) individual

My father is working in London. He won’t be
back to Taiwan until next year.

(A) exactly (B) obviously

(C) currently (D) amazingly

They were sitting in a quiet room with a clock that
loudly announced the of time with each tick.
(A) border (B) passage

(C) horror (D) background

The Oscar winners are only on the day of the

o<m2.
(A) affected (B) revealed
evmmmqma

(C) achieved

Watch out! The ground is covered with an unknown
sticky ; don’t step in it!

(A) supply (B) feature

(C) individual (D) substance

Part 6: Short Passage Questions (10%)
Read the paragraph and answer the questions.

American Thanksgiving may seem similar to Canadian
Thanksgiving, but some features set the two holidays apart. In
the US, the Pilgrims held the first Thanksgiving meal in 1621.
They were English settlers who had arrived in America the
year before. The meal was a way for them to celebrate the
autumn harvest and thank the Native Americans for their help.
The first Canadian Thanksgiving meal, however, was likely
held in 1578 by the explorer Martin Frobisher. Frobisher
wanted to thank God for protecting him and his men during
their rough sea journey along the northern coast of North
America. Today, people on both sides of the border count their
blessings on Thanksgiving.

)51.

Who were the Pilgrims?

(A) Canadians who arrived in America in 1621.

(B) Americans who held the first Thanksgiving meal.
(C) English people who arrived in America in 1620.
(D) Native Americans who helped the English.
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() 27. The carpenter made good use of the old wooden closet and
it into a new table and a chair.
(A) tempted (B) abandoned

(C) demanded (D) transformed

( )28 Itwasa to see the Taj Mahal, which is one of India’s
most famous buildings.
(A) core (B) delight

(C) quarrel (D) reminder

() 29. The customer showed her
leaving the waiter a huge tip.
(A) submission (B) exception
(C) ingredient (D) gratitude

for the excellent service by

( ) 30. The country’s economy used to be based on agriculture but
now has to industry.
(A) conveyed (B) murmured

(C) shifted (D) boosted

Part 5: Cloze (20%)

Paragrap

To combat the COVID-19 pandemic, restaurants were closed to
indoor dining and, as a result, people turned to food-delivery services
such as Uber Eats and Foodpanda. _ (31) __ this turn of events has
been a boon for these companies, it has not been good for the
environment. During the second and third quarters of 2020, the top
four US-based food-delivery apps saw a combined increase of US$3
billionin _ (32)__ compared with the previous year. Even in Taiwan,
which did not experience stay-at-home restrictions in 2020, food-
delivery services saw a huge _ (33)__ in popularity. However, with
this increased business has come an increase in waste. The take-out
industry is notorious for its use of single-use plastic packaging, much
of _(34)__ ends up dumped in the world’s oceans. COVID-19 has
reshaped our eating habits, and _ (35)__, we must reshape our
approach to reducing plastic waste.

( )31, (A) Lest (B) While
(C) Since (D) Unless

( ) 32. (A) revenue (B) evidence
(C) chamber (D) authority

( )33. (A) ban (B) retreat
(C) boost (D) journalist

( )34, (A) that (B) those
(C) what (D) which

( )35 (A) evenso (B) until then

(C) after all
Paragraph B

Located on the northeast coast of the US, the city of Boston is
known for its colonial history. The best way to _ (36)__ the area’s
sights is to walk the 2.5-mile-long Freedom Trail, starting from
Boston Common, the oldest public park in the country. Following
brick markers along the sidewalk, you’ll _ (37) 16 landmarks,
including Faneuil Hall. The hall has served __(38)__ a marketplace
since 1742 and was the location of the first protest against the British
government’s heavy taxes. After ending the trail at the site of the first
major Revolutionary War battle, head to the Boston Tea Party Ships
and Museum, where you can learn about the colonists’ __(39)__ with
British rule and find out about Boston’s key role in founding the US.
The city has many other sights and activities __(40)__ will make you
want to come back for more.

( )36. (A) callfor
(C) heatup

( )37. (A) prompt

(D) in response

(B) takein
(D) take over

(B) transform

(C) resemble (D) encounter
( )38 (A) as (B) for
€) to (D) with
( ) 39. (A) district (B) enthusiasm
(C) quarrel (D) entertainment
( )40. (A) but (B) where
(C) that (D) so that

Part 6: Short Passage Questions (15%)
Read each paragraph and answer the questions.

Aylmer had long been celebrated by his fellow scientists for his
brilliant experiments, but he abandoned his work to marry the
beautiful Georgiana. She was a dedicated wife who had just one
physical flaw—a small birthmark on her cheek. Aylmer paid no
attention to the birthmark at first, but over time, he became
increasingly bothered by it. Aylmer asked Georgiana if she would
consider having the birthmark removed. He then proposed removing
the birthmark himself in order to make her fully perfect in all ways.

Georgiana loved her husband so much that she knew she would
rather die than continue to horrify him. She trusted in Aylmer’s talents,
so she agreed to his plan. Aylmer brought Georgiana to his laboratory.
As Georgiana explored the lab, she stumbled upon a journal detailing
the results of his experiments, which tended to fall short of his noble
ideals. Still, she was willing to do whatever he asked so long as it
would make him happy. Later, Aylmer came to Georgiana with a
potion. He said it would remove the birthmark entirely. Drinking itat
his request, she fell asleep, her birthmark slowly fading until no trace
remained. She woke up just long enough to tell Aylmer not to feel bad
about what he’d done. Then she died.

( ) 41. Whatdid Aylmer do when he married Georgiana?
(A) He performed more experiments.
(B) He stopped his scientific work.
(C) He became a celebrated scientist.
(D) He worked even harder.
() 42. Which word best describes Georgiana as a wife?
(A) Brilliant.
(B) Jealous.
(C) Devoted.
(D) Suspicious.
() 43. Why did Georgiana agree to allow Aylmer to remove her
birthmark?
(A) Everyone around her agreed the birthmark was ruining
. her beauty.
(B) She knew the birthmark might affect her health in the
future.
(C) She didn’t want Aylmer to be upset by her appearance.
(D) She was also horrified by the birthmark on her face.
() 44. What did Georgiana find out by reading Aylmer’s journal?
(A) Aylmer did not love Georgiana.
(B) His experiments were often not successful.
(C) Aylmer’s ideals were not as noble as they seemed.
(D) The method that Aylmer would use to remove her
birthmark.
() 45. What happened right after Georgiana drank the potion?
(A) She died. _
(B) She fell asleep.
(C) Her birthmark became larger.
(D) Aylmer realized he had made a mistake.
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